Commutative Property
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Associative Property

clﬂ.nbt. G‘m?:us

Ad;lilc.-'an
Gtb= bta
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et (ore) = (aan)ie

Simplify:
18p + 6g + 15p + 5¢q
Pp+15p + bg +55
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What you will learn about:
Properties of Real Numbers
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Identity Property

&b‘l{, 'tL-nb

Inverse Property

Property of Zero

z@)=0

Distributive Property
t(bio)= cbotec

Add:Liow

m,| b:rl-"e'i'.‘ﬂf\

Axo=a. alD=a
Add: Livn | b:pl:cation
L\
Gt Ea)=D &-(ah-»{
il _L
A
Simplify:
39x + (—92x) + (—39x)
Bix +(-39) + (-12x)
o+ C"ﬁlx}: ~q9Ax
7 8 15 31 .15. 8
_____ ey s
15 23 7 s g
[ 25 > 23
E 6 12
7 3 (6x+12)
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(t}mhﬂ = X1

% Simplify:
(.b'}c)&. = Gotac 8 — 2(x + 3)
Chiac = ﬁCl;)f-c) Q-2x-G
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Simplify:
7x—5(x+4)

MY -5S¥-aD
A X -0

4(x — 8YS (x +3) Y rs
Ux-5L ~%-3

Commutative Property

of pddition M 4, b are mal numbem, than

of multiplication I 1, b e resl numbers, than
Asaoclative Property

of addition 1ta, &, ¢ & mmal umbers, Hhen

of multiplication I @, b, ¢ ar mal numbers, then
Distributive Property

it @, b, ¢ o real nurbes, hen

Identity Property

of sddition  For arry real nueriber a:
0 w5 the additive identity

of multipfication Forany real number o
I is the multiplicative identity

Inverse Property

of addition  For ary resl nember a,
=il I %ha additve inverse of o

of multiplication For any rsal numbera,a 2 0
I the multiplicstive mverss of o

Proporties of Zero

For any real numoas g,

For any real numbor @, 0 # 0

For avy meal number a, o # 0

a4 bmhia

ie+hl+c=a+(b+c)

(@-by-c=a-ib-c)

alb4 ¢) = ab+ac

a4ll=g
O+a=a
d-l=aq
l-a=a
b [ =) 1]
ard=1
ga-0=10
G-a=0

a undefinad
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Unit Conversons
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What you will learn about:
Systems of Measurements

U.5. System of Measurement

} ieaspoons (t) = | wblespoon (T)

16 tablespoons (T) I cupiC)

1foot{ft.) = 12 inches{in,)

n mn

- I cup(C) B fluid cunces (1 oz.)
Length I yvard (wd) = 3fest(.) Volume s G ; :
i 4 2 | pamt (pt) = 2oups{C)
| mile fmi) = 5,280 feet (ft.)
| qqusiert (i) = 2 pints (pL)
| gallon {gal) = 4 quarsiqL)
| munute (min) = &) seconds (sec)
: 4 (b 16 1 hoar (M) = 6 minoies (min)
fi h) = e (o2 ) n
Weight pou Cunpehie Time | day = 24 hoars (hr)
1 tom = 20 pounds {Ib.)
| week {wk) = 7 days
| yeur {yr) = 365 days

MaryAnn is 66 inches tall. Convert her height into feet.

2pb=twm| | Pt g
: G
12 N

Ndula, an elephant at the San Diego Safari Park, weighs 3.2
tons. Convert her weight to pounds.

D
7los = 32 b5 | 2000 |y 1
|1 b

Juliet is going with her family to their summer home. She
will be away from her boyfriend for 9 weeks. Convert the
time to minutes.

\
Tmin =996 T deg| 24 hes | Lo wm

e ) dg | |

ey
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The distance between the earth and moon is about 250,000
250,000 miles. Convert this to yards.
| 7.0 7yds = 250,000 -/5\ saw O | |y
1 Tl
3 .
> e , | »+ | & [t
LN 2
[
g 9 8 Seymour bought three steaks for a barbecue. Their weights
Y4 g© Oemod  |were 14 ounces, 1 pound 2 ounces, and 1 pound and 6

ounces. How many total ounces of steak did he buy?
b1+ 2a= S0z

Stan cut two pieces of crown molding for his family room
that were 8 feet 7 inches and 12 feet 11 inches. What was
the total length of the molding? iw i

o5 +155
3.5 8 I—"\
Metric System of Measurement
Length Mass Capacity

1 kilometer (k) = 1,000 m

1 hectometer (hm) = 100 m

1 dekametar (dam) = 10m

Tmeter(mj=1m

1 decimeter (dm) = 0.1m

1 centimater (cm) = 0.0% m

1 millimeter fmm) = 0.007 m

1 meter = 100 centimeters

1 mater = 1,000 millimeters

1 kilogram (kg) = 1,000 g
1 hectogram (hg) = 100 g
1 dekagram (dag) = 10 g
Tgramigi=1g

1 decigram {dg) =01 g

1 céntigram (cg) = 0.01 g

1 milligram (mg) = 0.001 g

1 gram = 100 centigrams

1 gram = 1,000 mifligrams

1 iioliter (ki) = 1,000 L
1 hactoliter (hl) = 100 L
1 dekaliter (oal ) = 10L
TierLi=1L

1 deciliter (dl.) = 0.1 L

1 centiliter (cL) = 0.01 L

1 mililiter {mL) = 0.001 4

1 liter = 100 centiliters

1 liter = 1,000 millditers

54|Page



i
B b

Nick ran a 10K race. How many meters did he run?

? W~ D lm l /o006 M _ {QJDDE? i

l [ tem

Herman bought a rug 2.5 meters in length. How many
centimeters is the length?

?C,M:‘l.s-m ‘ 160 Cw _ 25—0

.

Eleanor’s newborn baby weighted 3,200 grams. How many
kilograms did the baby weigh?

? kb’:- ‘5',1005\ I lcj
J!m %)

2hik

The fence around Hank’s yard is 2 meters high. Hank is 96
centimeters tall. How much shorter than the fence is Hank?

Write your answer in meters. 2 ~. 4
?H:-‘itlcn\ | L2} :.q('“
IIW o ;0"1‘ m

Dena’s recipe for lentil soup calls for 150 millileters of olive
oil. Dena want to triple the recipe. How many liters of olive
oil will she need?

7 f=150mt| 1 |

legy mf
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Cor kon Faclors B 1 LS, and Meatric Systems

Length Mass Capacity
1 in = 254 cm
1 fi = 0305 m 1lbh. = 045kg = g%
lyd = 09%14m 1oz 8E
Imi. = L61km lkg = 221/b. = lD6g
I m 3281

& ot

Lee’s water bottle hold mL ¥¢ water. How many ounces are
in the bottle? Round to the nearest tenth of an ounce.

7p2=SYw} | l &%

= 1.3_02:
3;0\:-‘1

How many liters are in 4 quarts of milk?

?P:t‘lﬁébl S L - 38 L
L 4¢

Soleil was on a road trip and saw a sign that said next rest
stop was 100 kilometers. Howm many miles unitl the next

?
rest stop: 7 n = oo VA l | y

]{.c,\ Jes,

(2. |

TEMPERATURE CONVERSION

To conver) trm Fahranhel! tampemture, F 1o Celaus tempeture, © woe the formon
5
C=—{f
&
o comvern friom Ceislus termpemitum, C. 10 Fahrenbeil emgeraiui. F, use the Sortie
4
L
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Convert 50°F into degrees Celsius.

While visiting Paris, Woody saw the tempurature was 20°C.
Convert the tempurature into degrees Fahrenheit.

Julian drinks one can of soda every day. Each can of soda
contains 40 grams of sugar. How many kilograms of sugar
does Julian get from soda in 1 year?

The reflectors in each lane-marking stripe on a highway are
spaced 16 yards apart. How many reflectors are needed for
a one mile long lane-marking stripe?
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